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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, Router 1 learns about Route X. 

Which statement is correct about Route X when using the default BGP advertisement rules? 

A. R1 will not advertise this route to any peers. 

B. R3 will not advertise this route to R4 or R5 without an explicit policy. 

C. R4 and R5 will not advertise this route to each other. 

D. R2 will not advertise this route to R3 without an explicit policy. 

Correct Answer: C 

 

QUESTION 2

By default, how long will a learned MAC address be retained in the bridge table on an EX Series switch? 

A. 600 seconds 

B. 3600 seconds 

C. 300 seconds 

D. 1800 seconds 

Correct Answer: C 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, what does the asterisk(*) following the ge-0/0/5.0 interface indicate? 

A. It indicates the interface is not active. 

B. It indicates the interface is a trunk port. 

C. It indicates the interface is an access port. 

D. It indicates the interface is active. 

Correct Answer: D 

 

QUESTION 4

You notice that currently two MAC addresses are associated with a single access port in the bridge table of one of your
EX Series switches. 

What are two explanations for this behavior? (Choose two.) 

A. The native VLAN feature has been associated with the access port. 

B. The mac-move-limit feature has been disabled on the access port, 

C. The access port connects to an IP phone which connects ta a host device 

D. The access port connects to multiple hosts through a rogue device 

Correct Answer: AD 

 

QUESTION 5

An EBGP session sources its TCP connection from which IP address? 

A. The IP address of the primary address assigned to the loopback interface. 

B. The IP address of the preferred address assigned to the loopback interface. 
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C. The IP address of the interface that connects the two BGP speakers. 

D. The IP address assigned as the router ID. 

Correct Answer: C 
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